MCA4
Chapter 8 (Questions 1-35)

Chapter 9 (Questions 36-70)

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1)Pilots train on flight simulators for safety, learning efficiency, and cost savings. This is an example of ________. 

A)on-the-job training 
B)programmed learning 
C)apprenticeship training 

D)simulated training 
E)coaching 

2)According to Kurt Lewin, in order for a change to occur, which stage must first take place? 

A)moving B)refreezing C)simplification D)shifting E)unfreezing 

3)Employers can identify training needs for new employees by ________. 

A)reviewing job descriptions B)questioning current job holders C)performing the job D)reviewing performance standards 

E)all of the above 

4)The “Do a Tryout” step for success when using on-the-job training entails all of the following except ________. 

A)finding out what the learner already knows about this job 

B)having the learner do the job while gradually building up skill and speed 

C)having the learner go through the job several times while explaining each step 

D)correcting mistakes as the learner goes through the job 

E)running the job at the normal pace 

5)If an employer fails to train an employee adequately and an employee subsequently does harm to a third party, the court could find the employer liable for ________. 

A)occupational fraud B)negligent hiring C)negligent training D)adverse action E)discrimination 

6)Which organizational development application involves examples like performance appraisal, reward systems, and diversity programs? 

A)technostructural B)human process C)human resource management D)process consultation E)strategic 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

7)Organizational development usually involves action research. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

8)Jack hopes to be promoted to head of his department next year. In the meantime, he has been assigned to spend a year as assistant to the current department head. This is an example of the ________ form of training. 

A)informal learning B)job instruction C)special assignments D)job rotation E)coaching 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

9)Performance analysis is a detailed study of a job to determine what specific skills the job requires. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

10)A structured process by which people become skilled workers through a combination of classroom instruction and on-the-job training is called ________. 

A)apprenticeship training B)coaching C)understudy training D)job instruction training E)programmed learning 

11)The first step to ensuring success for on-the-job training programs is to ________. 

A)present the operation B)evaluate the program C)prepare the learner D)follow up E)do a tryout 

12)The first step in using a job instruction training program is to ________. 

A)list all necessary steps in the job B)present the operation C)list key points or guidelines for each step D)order the steps in the job E)prepare the worker 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

13)When designing a training evaluation study, one can use a time series design or a controlled experiment. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

14)Which of the following is not measured to evaluate a training program? 

A)changes in on-the-job behavior B)organizational productivity C)training objectives achieved D)participants’ reactions to the program E)what trainees learned from the program 

15)A disadvantage of lecturing as a method of training is that it is ________. 

A)appropriate for large groups B)boring C)fast D)less expensive than written materials E)allow questions from the audience 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

16)Sensitivity training seeks to increase participants’ insight into their own behavior and the behavior of others by encouraging an open expression of feelings in a trainer guided t-group. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

17)________ provides new employees with the basic background information required to perform their jobs satisfactorily. 

A)Employee recruitment B)Training C)Employee orientation D)Employee development E)Employee selection 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

18)A survey of employee attitudes towards the training program is the most frequently used assessment method. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

19)Rebekah was hired soon after graduation and assigned to complete a management trainee program. She will move to various jobs each month for a nine-month period of time. Her employer is utilizing the ________ form of training. 

A)understudy B)coaching C)special assignments D)job rotation E)informal learning 

20)Orientation typically includes information on ________. 

A)daily routine B)personnel policies C)safety measures D)employee benefits E)all of the above 

21)Which of the following guidelines is intended to “Present the Operation” when taking the steps for success using on-the-job training? 

A)have the learner explain the steps as the trainer goes through the job at a slow pace B)put the learner at ease C)explain the whole job D)compliment good work E)create interest in the job 

22)In a ________, measures are taken before and after the training program so they can be compared to assess the effectiveness of the program. 

A)controlled experiment B)factorial design C)time series design D)Soloman four-factor design E)post-test only design 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

23)Integrated strategic management is an OD method of developing and implementing a strategic change plan. 

24)OD applications in human resource management involve changing firm structure, methods, and job design to improve efficiency and productivity. 

25)Employers must always pay employees for attending training programs. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

26)The transparent, but often impermeable barrier that women face when trying to move to top management is called the ________. 

A)iron wall B)Mount Everest C)glass ceiling D)invisible corner office E)glass wall 

27)The fourth step in the training process is to ________. 

A)assess the program’s successes or failures B)present the program to a small test audience C)design the program content 

D)conduct a needs analysis E)train the targeted group of employees 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

28)Management development is a special approach to organizational change in which the employees themselves formulate the change that is required and implement it. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

29)Employers are responding to the problem of functional illiteracy by ________. 

A)conducting literacy audits B)holding formal classes on math and reading C)instituting literacy programs at work 

D)testing the basic skills of job candidates E)all of the above 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

30)The American Society for Training and Development estimates that only about 20% of what employees learn on the job is learned through informal means while the rest is learned through formal training programs. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

31)The third step in the training process is to ________. 

A)assess the program’s successes or failures B)present the program to a small test audience C)design the program content 

D)conduct a needs analysis E)train the targeted group of employees 

32)When jobs consist of a logical sequence of steps and are best taught step-by-step, the appropriate training method to use is ________. 

A)job instruction training B)apprenticeship training C)programmed learning D)informal learning E)job rotation 

33)What is the final step in the training process? 

A)evaluate the program’s successes or failures B)present the program to a small test audience C)design the program content 

D)conduct a needs analysis E)train the targeted group of employees 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

34)Job instruction training is a step-by-step self-learning method which uses a textbook, computer, or the Internet. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

35)Another term for vestibule training is ________. 

A)apprenticeship training B)computer-based training C)simulated training D)job instruction training E)cubicle training 

36)Peer appraisals have been shown to result in a(n) ________. 

A)reduction of group cohesion B)decrease in satisfaction with the group C)lower task motivation 

D)tendency to inaccurately predict who would be promoted E)reduction of social loafing in the team 

37)When using goal setting in performance management, the goals should be ________. 

A)difficult B)specific C)challenging D)doable E)all of the above 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

38)The HR department conducts performance appraisals, develops the appraisal tools, and monitors the appraisal system. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

39)Suppose you have five employees to rate. You make a chart of all possible pairs of employees for each trait being evaluated. Then, you indicate the better employee of the pair for each pair. Finally, you add up the number of positives for each employee. In this case, you have used the ________ method of performance appraisal. 

A)forced distribution B)constant sum ranking scale C)paired comparison D)graphic ranking scale E)alternation ranking 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

40)Performance appraisals assume that the employee understood what his or her performance standards were. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

41)Who is the primary person responsible for doing the actual appraising of an employee’s performance? 

A)the EEO contact person B)the employee’s direct supervisor C)the company appraiser 

D)the human resource manager E)none of the above 

42)Who is in the best position to observe and evaluate an employee’s performance for the purposes of a performance appraisal? 

A)rating committees B)peers C)immediate supervisor D)customers E)top management 

43)When an employee’s personal characteristics such as age, race, and gender influence a supervisor’s evaluation of his or her performance, the problem of ________ has occurred. 

A)halo affect B)bias C)strictness D)stereotyping E)central tendency 

44)What process allows top management to diagnose the management styles of supervisors, identify potential “people” problems, and take corrective action with individual supervisors as necessary? 

A)MBO B)organizational development C)critical incidents D)strategic performance appraisal E)upward feedback 

45)Which of the following is a problem with using MBO? 

A)it is time consuming B)a tendency to set unmeasurable objectives C)a tendency to set unclear objectives 

D)tug of war between subordinate and manager regarding goals E)all of the above 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

46)Graphic rating scales are the most reliable for rating performance. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

47)You are conducting an appraisal interview with an employee who is satisfactory, but not promotable. Which incentive listed below would likely be the least effective for maintaining satisfactory performance in this situation? 

A)small bonus B)additional professional development C)additional authority D)time off E)compliments 

48)Which of the following responses is not typical during a negative appraisal interview? 

A)denial B)anger C)aggression D)retreat E)relief 

49)The most popular method for ranking employees is the ________ method. 

A)alternation ranking B)forced distribution C)constant sum ranking scale D)paired comparison E)graphic ranking scale 

50)The best way of reducing the problems of leniency or strictness in performance appraisals is to ________. 

A)be aware of the problem B)rank employees C)train supervisors to avoid it D)impose a distribution for performance 

E)consider the purpose of the appraisal 

51)The first step in developing a behaviorally anchored rating scale is to ________. 

A)generate critical incidents B)develop performance dimensions C)develop a final instrument D)scale incidents 

E)reallocate incidents 

52)Forced distribution refers to an appraisal method, which ________. 

A)is based on progress made toward the accomplishment of measurable goals 

B)requires that the supervisor keep a log of positive and negative examples of a subordinate’s work-related behavior 

C)combines the benefits of narratives, critical incidents, and quantified scales by assigning scale points with specific examples of good or poor performance 

D)involves listing all the subordinates to be rated, crossing out the names of any not known well enough to rank, indicating the employee who is the highest on each characteristic being measured and who is the lowest, and then alternating between the next highest and lowest until all employees have been ranked 

E)requires a supervisor to evaluate performance by assigning predetermined percentages of those being rated into performance categories 

53)Performance appraisals may be conducted by ________. 

A)the immediate supervisor B)subordinates C)peers D)rating committees E)all of the above 

54)The M in the acronym for SMART goals stands for ________. 

A)meaningful B)mid-range C)merit D)moderate E)measurable 

55)Participatively set goals result in higher performance than assigned goals when ________. 

A)the goals are doable B)participatively set goals are more difficult C)the rewards are also higher 

D)participatively set goals are used consistently E)assigned goals are more difficult 

56)What usually occurs when employees rate themselves in a performance appraisal? 

A)appraisals are subject to halo effects B)interrater reliability is higher C)logrolling could occur D)ratings are higher than when rated by supervisors or peers E)ratings are about the same as when determined by peers 

57)Alternation ranking refers to an appraisal method, which ________. 

A)involves listing all the subordinates to be rated, crossing out the names of any not known well enough to rank, indicating the employee who is the highest on each characteristic being measured and who is the lowest, and then alternating between the next highest and lowest until all employees have been ranked 

B)combines the benefits of narratives, critical incidents, and quantified scales by assigning scale points with specific examples of good or poor performance 

C)requires that the supervisor keep a log of positive and negative examples of a subordinate’s work-related behavior 

D)requires a supervisor to evaluate performance by assigning predetermined percentages of those being rated into performance categories 

E)is based on progress made toward the accomplishment of measurable goals 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

58)The basic problem with rankings is that while it is not difficult to identify the extreme good and bad performers, it is difficult to differentiate meaningfully between the others. 

59)Courts have often found that inadequacies in an employer’s appraisal system were related to illegal discriminatory actions in cases involving layoffs, promotions, and discharges. 

60)Electronic performance monitoring (EPM) allows supervisors to electronically monitor the amount of computerized data an employee is process each day. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

61)The ________ problem occurs when supervisors tend to rate all their subordinates consistently high. 

A)halo effect B)central tendency C)bias D)strictness E)leniency 

62)Firms that use ________ let subordinates anonymously rate their supervisor’s performance. 

A)MBO B)upward feedback C)downward feedback D)critical incidents E)narratives 

63)Which appraisal method combines the benefits of narratives, critical incidents, and quantified scales by assigning scale points with specific examples of good or poor performance? 

A)alternation ranking B)behaviorally anchored rating scale C)graphic rating scale D)constant sums rating scale 

E)none of the above 

64)Which of the following is not one of the guidelines for effective goal setting? 

A)assign measurable goals B)encourage participation C)assign consequences for performance D)assign specific goals 

E)assign challenging but doable goals 

65)Which of the following is not a role played by the HR department regarding performance appraisals? 

A)training of supervisors B)monitoring the appraisal system C)advising regarding appraisal tools and procedures 

D)ensuring compliance with EEO laws E)appraising of employees 

66)Performance management combines performance appraisal with ________ to ensure that employee performance is supportive of corporate goals. 

A)goal setting B)incentive systems C)training D)all of the above E)none of the above 

67)The most popular technique for appraising performance is the ________ method. 

A)MBO B)Likert C)alternation ranking D)constant sum rating scale E)graphic rating scale 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

68)An appraisal interview is used to make plans for new hires as they move through the selection and training process. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

69)Which step in developing a behaviorally anchored rating scale involves clustering critical incidents into a smaller set of performance dimensions? 

A)first B) second C) third D) fourth E) fifth 

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

70)When actual job duties are appraised, the idea is to focus on the extent to which the employee exhibits the competencies that the employer values.
